HW 7.3

spril1, 2015 51268

373 Lisa Chan
] _
a) Jxe3] =1 ) he7)=n ¢) frsl =z
Xt32)] J543) =y A=7-72 [19-7) < 12 X622 Jrg-6)ezy
Y =8 Inf =i ;:/9 /11 =12 KB a2
~72-/2 5
k43 ==l 8] =y s=-5 //;57/1 " XX:; '/:/ e
Xo= <)) e e
&) =xtn |7 of 1224121 o same ot e)

Sxxd =T [ (8) 47

26-y =7 1268)4]+)
2x= 11 Ju-yl =7

’y; XX 18491 =17 ke 55 J=)
R /,/1}[,74«777,7 2u-d=) Ja(s))-7
Sk = o—2b - = -d /34
% =2k FIT =19 X =15 =72

I [5xn) =17
sx-y =17 [ HE)]n)
Se=28  fag-yfen

-8
! Z/ 1) =0

ox-ll o J4E) )

5¥= -G Jb-n[=0

h)=)ox-4)418-2

“S2v-y) s e
“Jzr-4) = -y

J2x-y] = /%

2aey = g 72OV

2x =26 ~/20-4) 418 <2

¢ -6 ~ x=le -6+ B =2
5 =1l=n Zx-Y= -l 2=2
2x° -12 ~)2(-6) Y ] rif =2
o c — ey TS =2
U VES LA
1) 39428l 1y=18 ORI
G4k = 2 27
-1y N 2))- 1= S | -py =
3]q2y] e =3 3a12(3))-14=18 3]‘7«2&’)] 14=18
3| J12x) =32 Xe 5 2)q+f) -=8 3}‘7’&}‘1”‘5
& 3
qu) T E sl Zy-y =18
el 7 1nxe L Z;JM;\E |5 e
w%-%ﬂ (3§ 31 —14 =18
PR [e=t3
T

DRI R

Ky g ] =6

15ale L B
Ikl
537 ;1 595 Jo-d U A S e e
A CR SRR e @A
T —
B )t -3 x=3 =2

sox = S J349F 603 fr3pat] =43)
-7y =2 /573{5)/4\1&/ Vor49/ - 16 1944) =8
Y5 Js-2q] 73 IR |18 =18
1 8 # g el
30=3)
M x-e| = 2xt w) 1= v 3l ~ qgrad] e lEDREE)
| o= 37730
A YA A pearts pelanl BT ““?‘
A nepret IR
B e SR e O e
ey o ot
EER N NERIEET e b4
q q
3108 NETED ”:{g;D
4 e ook
k=6 € cannt Y"‘)'Mw,,]:«\w
ny [xr-lov] =2y
x¥-lo =724 o) ‘13“'”1:3“ eyt s
xr-lox = 2h wr~lo 12420 }
By -x* =30 x> -13x —30°©

2oy "24=0
§ (x =) Lxv) =0

x#)lx-p)=e ey x=b

xe=-2 x=l°
[y - loc)] =24

xZ13x 13070 (x-13) (xt2) =0
X215 xe-2

(x0)(x-3) =0

J13tss) 167 [ = 30

}\H)‘L‘W()*lew [1e-4o] =24 X0 x=13
N-(2e)] =2 ) - ) .
24 Jw ! B [1310) =15%] £3° "T zasp
- - ) =30
) 1ot - 1o (w) =2 1o f:s)_\ i Ja-fev) °3° 7
oo —100 ] =24 ”‘é I=24 130] = 3° IS LY
lol= 24 " ~2l =y Jrgs) -] J-2c -4 = 30
0 £1y exteA. el L
Il =30
0y brr- ol R
xr-x =4 R
¥ 3 T
Lxt) () =o R D)
x=4  xe-l )
IFEREIAS I By
Lw -2 | =4 >
Wy =9 LT e cnmed ST
o e

Ty =20 =Y
1A=l =
M=o

[EE LS K14 e -2
x= 3 X= =1k

18] = i) |-tet] = [t

Pl o=

[=n =)

MW7 page

Vo) [aezl= ) x| = Ixn) 1=
Xt3- 1l x432- 1) + +
@ N —+ — L=

[eral =i U 6 - - -
1ol v %74“ Ox=—(xrd) B x=xH |
|-443] = N Y= %=\ —2x =1
I Mo sl
e S
- e
bj [x»?\:{J\ K’Tx+\ T
o %
x= 7= 1 X )E-IN too sl
=1 X= 5
D D Pl e E
-] =1 =
[14] 210, © + +  +
& -+ o+ _
|=s-7] = 6+ - -
— + +
[~ia] =2V 5 — — o+
6 — + —
§r -

C‘) \3( ”ﬁ ERS)

X-S=al x-5=-3 ,
M=) ) AR A
l%’g\:&f 21 % I\L =
Jaaf =21 2| . -
[ I e
[-le-51-2]

alv § pommt

[~

| « >
d) |-z+q] =0 \\ ||
—rrq=1  —xrd="0 Irix ‘1\
=% @ |2 <11
|-6) +4]=n (LS l-\l

[s4a] =17

%

[-as#a[ =19

|-v] =0V

e) |ax-ul=7
2x~4=9 x4 =7
Ix= U ax=~3
T
W%}%fm
1\!»‘{1:7
[2]#7 v

|a-)-9(-2
|-2-4] =9
[-7]=2

f)same as ©

;) 15 -0] 20
Ty~ =17 Sy~ eI
oY =26 Cx =
)(:/f?

s X2
Rl

[S[&) | =0
IJB»H
[

;‘7
27

\A»U\H?
[-5] 910 «

\I\B = dx-v| 418 =L

S EL R AR ! ~ (ax-4) 5 =7
-ax tAQF & —ox tad =R
“dx = -AD —ox = -2

- odnn"@“

| atio) 4| 15 =2

-] #1522
~lp rig=a .
2=V Mt/ﬁkr
Jdo v



B4 l%& Onty

Uoa) 1xegh =t
X+3=1]
[x=9)
[gx2] =
[ =1 v
[7r43) =)
v

RSRES
[

b) [x-721=1%
x—= 7= 1 X~ e—I

\IH\ SN
[1a) 710

\/5/7\ s
[-1] =&V

) x5zl
X-S =4l

|26-5) =2
Jadf =a1

[He-s=al
|-l =2l v

o{)) ('1+Cr| =17
—rr 4=
-xe 5
l-t-6)+ 4=
[g2al =17
[n]=10v
|-as ral =17
(7\7‘ ;\7\/

=D
/z:*,’)\é

e) \&X/W\:7

2x~4=9
x= 1l
4

dx-Y==7
Axe~3

A

j@) some as @ -

j) [Sx-ul=1
ox ~H =17
Y =25

X:?

Sx 1l o9
Ex L

R s
‘K[agg) —l(\ =
\Jé/u) =17
[m( 217
Is)-1]=1)
\e»u[ﬂ?
(4}70 X

B -1 aufa e =2

= {24 18 =R
—ox taa=s-d
= <AD —0x = -2

A prare

[ 2wy} 15 =2

~ () # =0
~dx FAd A

- | 1] +iE =2
e =4
r=a v

MW page2

W | 2aq] e
X319 X X2 +9 76X
X ~bx 9 &0 kx4 20
| -2 | B
1 -2 I 2
Gy 0
x=3 xe 7
/Cmm
(313 a1 =606
lf(»r"(\ =18
‘1&[ =&
5oy

|9 | =6 ()
(4] =
151 =t
w78 X
D) \1%"/*'&\ = ax |
Lx* =t b = 9xa)

xé¢ =3% 1 =0
x= 7]

axtox—b =ax+1)
ax*—x-b=rax -~
axda4h =S =0
o )
¥
x= 71z
¥

1A

e

v Y4

/t@dvovxwoﬁ

I
o o2=AE
TR
S

Il

%

R
E=S

ey 127 L)

PRI

“15x

AR

a0 sol.

u:’ 3/‘»3\
(o~ Ve
[PRCN

n) \x"*mxk:oﬁ

KT =loK = -9
~1px TA4=0
~b
4
(x-6)lx-4)
9%

|-t | =24
[ 120} -2
|a4] 22
gy-a1/

xéﬂcx = a4
xofox-gded o xE
) -1 |
) a ¢
(x"-l)bvrolj
SLFd
A |& 0 | -4
]3540\;;4
l’ﬁ‘d 24
’ 24 =2 v/
‘41) “"D(’A)k;éw (\i“ﬁb[“”r’&ﬁ’\
4-a0] -2t
\«m] =
Ip £ %

1~ %\am

[ -2y (=24
FIEELRvg



Y =i Ftd =2
X< 3 x= =it
8] = -h) [-te+1) = -]
(] e g |~ = n)
1=y =1
3) fxl = |t
x = x+l -x= kTl
_x —x - —x
“2x =
ot | o=l
2

O bttt -

Dozrexrxps =5

= =
3% S
Xz g
4

2 ) 7X7//x~)(%7§
-3k =5

—x-2r =5
-
—x = i
z
X =
<-4
z

P e L 31 = 441

Fx o +X RIS 0 L

oy =~ 0 # | \;\*\7]

xw//l /’l;LL
(2

S

iy
/KTJ"/Xﬂ‘X*/ =

Xt ==

>
1

x= L

Qe

<
)(1‘2";

5y St -9xt20) =ik

ar-9xt20 = l6—x?
“ly tx*
2x>~9x 4 =D

X¥ =09y tg =0

(x- %) (x-1)=°

l2x-8) (2x=1) =0
k-] (a—1) =0
=¥ x*

MW7 page3

[97= 00 ) 2] = [lt-y7|
| e =36 t2s) _ e-te ]

[ol = o)
JEF 9 L)rae] =16
[5-% 0] =]-%)
/

1
G- a0l =]leg)

/\JHD)‘“(\T‘(S “d

- | 1) t1E =2

S rlEES
r=a

—|208-4] 5 =2

- | ao| +15 =2

bx 13 =
bx = €

—ap I8 F &

V) 3)qeax) l=16
3(Atp) 1y =18
27 +kx ~I4 =18

18

RSN
o ltiens

3(4ax) -1 =18

A7 +6x -4 =18
b+ 13 =
b= -2
X’/'%\\/mwmg

s o) -n=ts
gm/%l»\q =i
2|4-3| e

) ]gz;x} 1273]

(573%)412 =31
s-3x =14

el

X= <

¢
W
3

(s~ r="3



MW7 page 4

— ] Aoy T e

-] #1g e
_l FlE= S
r=a v
~la)-ulHE =2
-] ao] +15 =4
—aprle =
Cadax
o Plutions
1) 3[4 +ax] ~l4=18
A 3(4+ax)~ 14 =18
27 +6x —14 =8 7 wbx - 14 =18
Ly +13 <18 o
bx :g‘; e
X=% X:}%ﬂmmwmj
3] +a(%)] -

a1 |1
B
3\% Sy =
2’(%)'1‘! =&
319 I8
15 =18
8“11('%)"“{1\3
SM/%\ et
2|3-2| -veE
Rt
3\%) —p 18
414218
PRLE RN
) \?/3*},,‘;;3)
(5-3¢)412 =) (55 +u=3
5% =4 e
e 1 B
Ly -

i
IG' ?('E N*\& ] L edraneoss
1.
| ';Hw[,rm‘ -3
W{ +14.23]
141 23]
3 =3
‘5" 3(\5\\ 1 =3
[5- ] #1273
|~3] 12 =3]

B4 =2
w5 A3 X



